Short questions in the text book with inverted answer:
أسئلة قصيرة في الكتاب المرجعي ذات إجابات مقلوبة.

Chapter (1):
1.1- Which of the following levels of biological organization includes all others in the list: Cell, molecule, organs, tissue?

(Answer page: 3)
1. 2- Explain how the photosynthesis of plants functions in both the cycling of chemical nutrients and flow of energy in an ecosystem

(Answer page: 3)

1.3- Explain why cells are considered the basic units of life

(Answer page: 4)

1.4- What is the chemical basis for all of life's kinship?

(Answer page: 5)

1.5- To which of the three domains of life do we belong?

(Answer page: 7)

1.6- How does natural selection adapt a population of organisms to its environment?

(Answer page: 9)

1.7- What is the difference between discovery science and hypothesis-based science?

(Answer page: 9)

1.8- Why is it difficult to draw a conclusion from an experiment that does not include a control group?
(Answer page: 11)

1.9- How do science and technology interact?

(Answer page: 12)

1.10- How might an understanding of evolution contribute to the development of new drugs?
(Answer page: 12)

Chapter (2):
2.1- Which four chemical elements are most abundant in living matter

(Answer page: 18)

2.3- Explain how table salt illustrates the theme of emergent properties

(Answer page: 19)

2.4- A nitrogen atom has 7 protons, and its most common isotope has 7 neutrons> a radioactive isotope of nitrogen has 9 neutron. What is the atomic number and mass number of this radioactive nitrogen?

(Answer page: 20)

2.5- Why are isotopes useful as tracers in research on the chemistry of life?

(Answer page: 21)

2.7- Explain what hold together the atoms in a crystal of table salt (NaCl)

(Answer page: 23)

2.8- What is chemically nonsensical about this structure H-C=C-H

(Answer page: 23)

2.9 Why is it unlikely that two neighbouring water molecules would be arranged like this?
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(Answer page: 24)

2.10- What enables neighbouring water molecules to hydrogen-bond to one another?

(Answer page: 24)

2.11- When you look at the beads of sweat on your face following a hard work, can you explain what holds those drops together?

(Answer page: 25)

2.13- Explain how the freezing of water can crack boulders

(Answer page: 26)

2.16- What is the relationship between fossil fuel consumption and coral reefs?

(Answer page: 28)

Chapter (3):
3.1- Why do isomers, which have the same formula (same number of atom), have different properties?

(Answer page: 34)

3.2- Identify the chemical groups that do not contain carbon?

(Answer page: 35)

3.3- Suppose you eat some cheese. What reactions must occur for the amino acid monomers   in the protein of the cheese to be converted to proteins in your body?

(Answer page: 36)

3.4- Write the formula for a monosaccharide that has three carbons.

(Answer page: 37)

3.5- Lactose, as you read in the chapter introduction, is the disaccharide sugar in milk. It is formed from glucose and galactose. The formula for both these monosaccharides is C6H12O6. What is the formula   for lactose?

(Answer page: 38)

3.7- Compare and contrast starch and cellulose, two plant polysaccharides.

(Answer page: 39)

3.8- On a food package, what dose “unsaturated fats” mean?

(Answer page: 40)

3.9- Why are human sex hormones considered lipids?

(Answer page: 41)

3.11- Which of the following is not a protein:  hemoglobin, cholesterol, ovalbumin, an enzyme, an antibody?

(Answer page: 42)

3.12- In what way is the production of a dipeptide similar to the production of a disaccharide? 

(Answer page: 43)

3.13- Why dose a denatured protein no longer   function normally?

(Answer page: 43)

3.14- If a genetic mutation changes the primary structure of a protein, how might this destroy the protein’s function?

(Answer page: 44)

3.16- How are the two types of nucleic acids functionally related?

(Answer page: 47)

Chapter (4):
4.1- Which type of microscope would you use to study (a) the changes in shape of a living human white blood cell; (b) the finest details of surface texture of a human hair; (c) the details structure of an organelle in a human liver cell?

(Answer page: 53)

4.2- To convince yourself of the larger surface area to volume of small cells, compare the ratio of surface area to volume of the large cube and one small cube.

(Answer page: 54)

4.3- List three that are common to prokaryotic and eukaryotic cells. List three features that differ.  

(Answer page: 55)

4.4- Which of the following organelles does not belong in the list: mitochondrion, chloroplast, ribosome, lysosome, peroxisome? Why?

(Answer page: 57)

4.5- Describe the structure of a biological membrane.

(Answer page: 58)

4.6- What are the main functions of the nucleus?

(Answer page: 59)

4.7- What role do ribosomes play in carrying out the genetic instructions of a cell?

(Answer page: 59)

4.8- Which structure includes all others in the list; rough ER, smooth ER, endomembrane system, nuclear envelope?

(Answer page: 59)

4.9- Contrast the form and functions of smooth ER and rough ER.

(Answer page: 61)

4.10- What is the relationship of the Golgi apparatus to the ER in a protein-secreting cell?

(Answer page: 61)

4.11- How is a lysosome like a recycling center?

(Answer page: 62)

4.12- Is a food vacuole part of the endomembrane system?

(Answer page: 62)

4.13- How do transports vesicles help tie together the endomembrane system?

(Answer page: 63)

4.14- What is cellular respiration?

(Answer page: 63)

4.15- Which membrane in a chloroplast appears to be the most extensive?                                   Why might this be so? 

(Answer page: 64)

4.17- Which component of the cytoskeleton is most important in (a) holding the nucleus in place within the cell; (b) guiding transport vesicles from the Golgi to the plasma membrane; (c) contracting muscle cells?

(Answer page: 65)

4.18- Compare  and contrast cilia and flagella.

(Answer page: 66)

4.19- Why dose a lack of dynein arms affect the action of both cilia and flagella?

(Answer page: 67)

4.20- Describe the three structures that provide support to the plasma membrane.

(Answer page: 67)

4.21- A muscle tear injury would probably involve the rupture of which type of cell junction?

 (Answer page: 68)

4.22- Which animal cell junction is analogous to a plasmodesma?

(Answer page: 68)

4.23- How do mitochondria, smooth ER, and the cytoskeleton all contribute to the contraction of muscle cell?                                                                                                                 

(Answer page: 69)

Chapter (20):
20.1- Explain how the ability to pump blood is an emergent property of a heart, which is at the organ level of the biological hierarchy.

(Answer page: 414)

20.2- Explain how a seal, a penguin and a shark illustrate convergent evolution

(Answer page: 415)

20.3- How is a tissue different from a cell and an organ?

(Answer page:415 )

20.4- Epithelial tissues are named according to the ----------- of cells on their apical surface and the number of cell -----------------.

(Answer page: 416)

20.5- Why does blood quality as a type of connective tissue?

(Answer page: 417)

20.6- The muscles responsible for a gecko climbing a wall are ------------- muscles

(Answer page: 418)

20.7- How does the long length of some axons (such as those that extend from your lower spine to your toes) relate to the function of a neuron.

(Answer page: 418)

20.8- Explain why a disease that damages connective tissue can impair most of the body’s organs?

(Answer page: 419)

20.9- Why is it beneficial to grow replacement tissues or organs from a patient’s own cells?

(Answer page: 419)

Chapter (31):
31.5- For each of the following structures in your body, name the most analogous plant tissue system: circulatory system, skin, adipose tissue (body fat).

(Answer page: 626)

31.6- Which of the following cell types has the potential to give rise to all others in the list: collenchyma, sclereid, parenchyma, vessel elements, companion cell?
(Answer page: 629)

31.7- A plant grows taller due to cell division within the -------- at the tip of the shoots. Such lengthening is called ---------------.

(Answer page: 631)

